L No=gax=% |- BB,

(FENESE)

-~ T S CH &AW Student ¥ Class A2 38 78 > 4R B - Trra R B ) aCHAES > F AR

Y EErAIIE D (F3LLG3F ) i LAWY w2 CEF RN LR E T D
B R 825/»\ )
® :ipulClass#E® - L*ﬁ;uixv;\ BIT 34 e s B ~BE R IR Y
%iﬁﬁﬁﬁﬁaméﬁ 0
® xu/Class#ER- ,zcal( ) P EETTE 4 hT s #ic
o Li¥gw/Class#E B - = #findTop( ) 5 NS HE 4 chh 3 @A B H A v 8
ERFEI>% i\l (overloadlng) Fap o PV ATINE R B A o T w BEIR- FTE R
KA R
® 84 f2%main( )M B M AR I E
#8 % Student 22 Classenfz ;8 & 4™ ¢
class Student { //% 2 #p %] T &
public:
string name; //§ 2 # %
int chn, eng, math; //% 2 W& #k=> %
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class Class { //FLau%gw] T &
public:
Student student[3]; //* 513 =5 4
double avg; //3#%F18 4 T ik #c
int top, top_index; //i%F1E 4 kB AL EH A TE
public:
Class(); //#& 47 a8 g W] i B3R 5 0
int operator>(Class &win); // % &iEEH F > 5% foouw BE /BT
void cal(void); //# 53318 4 ehT 154 #ic
void findTop(void); //4% 113%318 4 k3 B A B H v 4 = %
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#include <iostream>
using namespace std;

class Student { 1A SR E 2
public:
string name; /1A
int chn,eng,math; 1EEA BB B R 4R
1
class Class { ISR E 22
public:
Student student[3]; IEHE3 24
double avg; IEZ IR S 8
int top, top_index; I IEER A i A = 48 oy B LR AR L B
public:
Class(); 17T R =R R N B BB R A0
int operator>(Class &win);  //EFREET->HYZ#E > LACHE R = 4857 DEAR
void cal(void): IETEZ DT A A 55 8

void findTop(void); 1A H R TR A 1 i e KR oy B L P (L B
)

Class::Class({
for(int 1=0; 1<3; 1++)
student[i].chn=student[i].eng=student[i].math=avg=top=0;

}

int Class::operator>(Class &win){
1f(this->top>win.top)
return 1;
else
return 2;

}

void Class::cal(void){
int total=0;
for(int 1=0; 1<3; i++)
total+=student[i].chn+student[i].eng+student[i].math;
avg=(double)total/3;
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}

void Class::findTop(void){
top=student[0].chn+student[0].eng+student[0].math;
top_index=0;
int total=0;
for(int i=1; 1<=2; 1++)
if(top<student[i].chn+student[i].eng+student[i].math){
top=student[i].chn+student[i].eng+student[i].math;

top_index=i;
}
}
int main(void){
Class school[2];

for(int i=1; 1<=2; 1++){
for(int j=1; j<=3; j++){
cout << "' << 1 << "PIFE" << j<< "I BE LT
cin >> school[i-1].student[j-1].name;

cout << "FHHR T A MY B TR AR
cin >> school[i-1].student[j-1].chn >> school[i-1].student[j-l].eng >> school[i-1].student[j-1].math;

}

for(int i=1; 1<=2; 1++){
school[i-1].cal();
school[i-1].findTop();
cout << "B << 1 << "PFFH R4S << school[i-1].avg << endl;
cout << "B EE" << 1 << "BER" << school[i-1].student[school[i-1].top_index].name;
cout << " 4853 By" << school[i-1].top << "43" << endl;
!
flcout << "Frm B4R " << (school[0]>school[1]) << endl;
return 0;
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#include <stdio.h>
#include <string.h>

int main(void){

inti;

char name[100];

printf("5HH AT 5 ");

gets(name);

printf(" TR ")
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for(i=0; i<strlen(name); it++)
if(name[i]<='Z' && name[i]>='A")
printf("%c", 'Z'-name[i]+'A");
else if(name[i]<='z' && namel[i]>='a")
printf("%c", 'z'-name[i]+'a");
else
printf("%c", namef[i]);
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#include <stdio.h>

int main(void){

int weight[11]={1,9,8,7,6,5,4,3,2,1,1}, 1, sum=0;
charid[11];

printf(" 51 A5 43S IR — [ BEAED): )
gets(id);

if(strlen(id)!=10){
printf(" 5 7358 R R IE R 10");
return;

velse if(id[0]>'Z || id[0]<'A") {
printf("F—{EHFEHERE");

}

sum+=(id[0]-55)/10*weight[0]+(1d[0]-55)%10*weight[1];
printf("%d\n", sum);

for(i=1; i<=9; i++){
if(id[i]>'9')| id[i]<'0") {
printf("{& UG IR,
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return;

}

for(i=1; i<=9; i++){
sum+=(id[i]-'0")*weight[i+1];
printf("%d\n", sum);

b

if(sum%10==0)
printf("%s Fy B AV B 58 F9%", id);

else
printf("%os Ry XA B 7758 F-9%", id);
return 0;
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